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Tén: Ngay thang: Piém:
1 4 301
375 8§ 8
5.3 _ don
8 9 6 5
Loz 5 1.
2 9 9 2
7 2 5 1
9 8 7 6
Ll 2ol
2 6 3 8
6_3_ 4 3 _

9 9 6 5
S 1.2
7 5 4 9
21 31
3 5 6 8
4 1 1 3
577 3777
3_2_ 15
8 7 5 9
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Tén: Ngay thang: Piém:
Ll _4_5_ 2 3_1_1
6 3 3 8 8 4

5.3_7 Jo1»

8 9 24 6 5 3
12 235 5 1 1

2 9 18 18 9 2 18

7 2 19 5 1 23

9 8 3 7 6 42

1 1 4 1 2 1 37 13
271673713 3787 '
6_3_1 4.3_1

9 9 3 6 5 15
5_1_18 12 1

7 5 35 4 9 36
212 7 3_1.3

35 15 15 6 8 8
4_1.3 )l 3_40_ 19
5 7 35 3 7 21 21
3.2_5 o5 »

8 7 36 5 9 45
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